BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

1

10

1

100 1000 10

10

rm867 2/(413057 5078) 0.888
T T T T T T
BIC 427913 72 ABIC 0.000 AlogP 0.0000
I X% 362248.38 Ax? 0.000 AlogP 0.0000 7
e T s e T L T . T T . T . T T . T LTI T T . e Y. ; BlC
I ABIC —873802 1 $
i Ax* —873802 |
5078 5078
A ACs
| | | | | | | | | |
20 40 60 80 100
101 iterations
rm867 2/(413057 5078) 0. 888
E T | T T T E
2 BIC 427913 72 ABIC 0.000 AlogP 0. 0000 3
S o Z 362248.38 Ax* 0.000 AlogP ‘0.0000 3
= so78 | v s078 3
S ACgr—w s 3
E | | | | | | | | | 13
20 40 60 80 100
101 iterations
Fe2 15% 0+0 km/s
rm867 BLR 3000 NLR 900 km/s
F T | T | T | T | T
I 1BLR
S 4 NLR
I 5078 5078 ]
I A AC I
| | | | | | | | | |
20 40 60 80 100

101 iterations

kdh1 15-0ct-2021 22:17



